
JOHN 5 GHOST TELECASTER® (0111052880)

Page 1 of 5
Mar 13, 2023 - PR5753 - Rev. A

COPYRIGHT - 2023 - FENDER MUSICAL INSTRUMENTS CORPORATION

PARTS LAYOUT

22

24

27

11

5

3

1

9

2

7

10

12

10 28

29

13

14 15 16

30 31 32

30 31 32

15 16
20

17

21
10 19

23
25

26

18

4
6

8



JOHN 5 GHOST TELECASTER® (0111052880)

Page 2 of 5
Mar 13, 2023 - PR5753 - Rev. A

COPYRIGHT - 2023 - FENDER MUSICAL INSTRUMENTS CORPORATION

PARTS LIST

REF# DESCRIPTION PART 
NUMBER

1 BODY JOHN 5 GHOST TELE 7716861580
2 NECK ASSY JOHN 5 GHOST TELE 7716862000
3 SCREW SMA 8 X 1-3/4 OHP NI 0015636049
4 KEY LOCKING POLISHED CHROME (3) 0990818100
5 WASHER KEY RED CHROME 7722253000
6 BUSHING KEY (6) 0058820049
7 STRING GUIDE AM STD W/HDWR 0994911000
8 SCREW SMAB 3 X 3/8 RHP STL NI 0011357049
9 PICKGUARD CNTRL PLATE JOHN 5 GHOST TELE 7722658000

10 SCREW SMAB 4 X 1/2 OHP NI 0015578049
11 PICKUP DIMARZIO D ACTIVATOR NECK 7717021000
12 SCREW MACH 3-48  X 1 RHP NI 7716117000
13  SPRING COMPRESS 1-1/16 #144 (12) 0018689049
14 CONTROL 500K A-TAPER SPLIT 0056244000
15 NUT HEX 3/8-32 X 3/32 NI 0016352049
16 WASHER LOCKING INTL 3/8 X .687 X .035 NI 0016436049
17 RED SPEED KNOB 7716915000
18 PUSH SWITCH WITH RED LED W/HDWR 7720236000
19 FERRULE JACK RECESS FOOTBALL CHR W/SCREWS 0050100049
20 JACK PHONE OPEN CIRCUIT 11 0021956049
21 WASHER FLAT 3/8 X .614 NI 0031153049
22 TELE BRIDGE HB P/U JOHN 5 7717691000
23 PICKUP DIMARZIO D ACTIVATOR BRIDGE 7717020000
24 SCREW MACH 3-48 X 1 RHP NI 7716117000
25 SPRING TELE BRIDGE BLACK 0018872000
26 SCREW WOOD 6 X 1 OHP NI (12) 0016188049
27 SWITCH TOGGLE 3-WAY RED/CHROME W/HDWR 7718069000
28 COVER SWITCH CAVITY TELESONIC B/B/B 0053802000
29 FERRULE STRING RETAINER NI (6) 0994918000
30 STRAP BUTTONS STD/ELITE CHROME W/HDWR 0994914000
31 SCREW SMAB 5 X 1 OHP NI 0015610049
32 WASHERS FELT WHITE 0994930000
* STRAP LOCKS W/BUTTONS 0990690000
* WRENCH HEX KEY 1/16 (SADDLE HEIGHT ADJUST) 0021109049
* WRENCH  HEX KEY 1/8 (T-ROD ADJUSTMENT) 0023811049

NOT PICTURED IN DIAGRAM*=



JOHN 5 GHOST TELECASTER® (0111052880)

Page 3 of 5
Mar 13, 2023 - PR5753 - Rev. A

COPYRIGHT - 2023 - FENDER MUSICAL INSTRUMENTS CORPORATION

WIRING ASSEMBLY

3-WAY SWITCH 

NECK PICKUP

BRIDGE PICKUP

OUTPUT JACK

VOLUME 
CONTROL

KILL 
SWITCH

BLACK & WHITE 
WIRE SOLDERED 
& SHRINK TUBED 

BARE & GREEN 
WIRES

BARE & BLACK
WIRES

BARE & GREEN 
WIRES

BLACK & WHITE 
WIRE SOLDERED 
& SHRINK TUBED 

RED & GREEN
WIRE SOLDERED 
& SHRINK TUBED 

RED & RED
WIRE SOLDERED 
& SHRINK TUBED 



JOHN 5 GHOST TELECASTER® (0111052880)

Page 4 of 5
Mar 13, 2023 - PR5753 - Rev. A

COPYRIGHT - 2023 - FENDER MUSICAL INSTRUMENTS CORPORATION

SWITCH AND CONTROL FUNCTION

3-WAY SWITCH

NECK PICKUP

BRIDGE PICKUP

SWITCH
POSITION

NECK PICKUP

BRIDGE PICKUP

PICKUP IS ON PICKUP IS OFF
1

INDICATES POSITION 
OF 3-WAY SWITCH

3 2 1

3 2 1

MASTER VOLUME

KILL SWITCH



JOHN 5 GHOST TELECASTER® (0111052880)

Page 5 of 5
Mar 13, 2023 - PR5753 - Rev. A

COPYRIGHT - 2023 - FENDER MUSICAL INSTRUMENTS CORPORATION

ADDITIONAL SPECIFICATION DETAIL

.054”

.094”

2-7/16”

TUNING MACHINES : P/N 0990818100
OUTER SHAFT DIAMETER .394”

TUNING MACHINE THRU-HOLE
INNER DIAMETER .404”

LOGO: RED SPAGHETTI TELE
 APPLIED UNDER THE FINISH

TRUSS ROD NUT: 0994943000
TRUSS ROD ADJUSTMENT WRENCH:

1/8” HEX  KEY P/N 0023811049

SADDLE HEIGHT ADJUSMENT WRENCH:
.1/16” HEX KEY P/N 0021109049

1ST FRET PROFILE

12TH FRET PROFILE

NECK PROFILE: JOHN 5 FRET SIZE: JUMBO NARROW
(FRET DIMENSIONS ARE BEFORE INSTALLATION)

PLEASE NOTE: AS EACH NECK 
IS SANDED & FINISHED BY 

HAND, THICKNESS DIMENSIONS 
MAY VARY SLIGHTLY FROM 

THOSE SHOWN.

PICKUP SPECIFICATIONS

NECK 

BRIDGE

DC RESISTANCEMAGNETS

CERAMIC

CERAMIC

POLARITY

NORTH
SOUTH

NORTH
SOUTH

POSITION

.810”

.870”

Ø .404”

Ø.394”.394”

.1/16” HEX

10-32
THREAD

Ø.375”
1/8” HEX 


